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1. (a) w7 Sech R Sfeeq : 1x3=3

Choose the correct answer :

() e ot @3 2o Fofersen
et / fefrere’y |
The monomer of necleic acid is

nucleoside / nucleotide / nucleo-
some.

(i) Y ARE 9% P (R T / G/
aAlRC | BIRPIR |
An indicator - of air pollution is
.moss [/ fern / lichen / Cycas.
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(2)

(iii) “RAT T @I «F AR SR IR
s Rem / ofve / oo =S
QT A |
Species found only in a specific
region of the world is called

threatened / endemic / endangered
species.

(b) R I [ : 1+1=2
Fill in the blanks :

fi) AR BT e u

Globular proteins are in
water.

(i) < R A T QA |

Each step of food chain is known as

() oY o feran: 3x3=9

Write short notes on :

(i) Bt
Properties of enzyme

(i) =R

Acid rain

(i) SRET. SRFET. 9F.
WWF
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. (3)

2. ¥R @ R o’ TKQER PIPEE SF 39
el 1+10=11

What is the unit of protein? Write briefly
about the phases of protein synthesis.

e[t/ Or

ot o - 5%+5%=11

Write notes on :

(a) TORTR 2R oF TR
Types and functions of vitamins

(b} DNAT 55w
Structure of DNA

3. «fRfEea P B @2 RRRER Timeerm
Rz o1 “RESTFS =Re 2R o weimsan
F9 | 2+5+4=11
What do you mean by ecosystem? Write the

components of ecosystem. Discuss about the
energy flow in ecosystem.
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(4)

=T/ Or

T e & @ AR aEen wRe e gew
T T 1 A 2 @ SR @R R
ISP | 2+3+3+3=11

What do you mean by pollution? Write about
the factors and effects of water pollution.

Suggest some measures to control water
pollution.

4. 5 @ o (R e R 4x3=12

Write short notes on (any three) :

(@) SRR ST AR oo

Renewable and non-renewable resources

(b) RO Ten cSeanter qeprTg
Phytogeographical regions of India

(c) QRGEMvAR v2d S

Hot spot of biodiversity

(d) e T

Plant succession

(e) TRE THRIPR FERA “Rads

Climate change with suitable examples
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